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1. The following sentence has been divide into parts. One of them may contain a grammatical error. Select the part that contains
the error from the given options. If you don’t find any error’ mark ‘No error’ as you answer.
Antique diamond necklace /was stolen / from museum.
(A) Was stolen
(B) No error
(C) from the museum
(D) Antique diamond necklace

Answer: D
2. Select the option that can be used as a one-word substitute for the given group of words.
An image of God used for worship
(A) Ideal
(B) Idol
(C) Logo
(D) Model

Answer: B
3. Select the option that expresses the given sentence in active voice.
| was taught by shyam how to drive.
(A) Shyam has taught me how to drive.
(B) Itaught shyam how to drive.

(C) shyam is teaching me how to drive.
(D) . Shyam taught me how to drive.

Answer: D
4. . Select the word which gives the most appropriate meaning of the given group of words.
Incapable of being read

(A) Indelible

(B) Inevitable

(C) Ilegible

(D) Infallible

Answer: C

5. Given below are four sentences which are jumbled. Pick the option that gives their correct order.
The sectors included agriculture, public health and public utilities among others.
The GGI framework covered 10sectors and 58 industries.
The Good Governance Index (GGl ) 2021 scores have been declared.
The objective was to provide quantifiable data to compare the performance of different states and union Territories in these
sectors.

(A) CBAD

(B) CADB

(C) ABDC

(D) BACD

oS0 wp

Answer: A
6. Select the most appropriate option to fill in the blank.
lam going to _____ my parrot from the cage.

(A) Issue
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(B) Deliver
(C) Release
(D) Clear

Answer: C
7. Select the most appropriate option to fill in the blank.
The wind blew so at night that many trees fell in the park.
(A) Intensely
(B) Gently
(C) Fiercely
(D) Boldly

Answer: C
8. Select the most appropriate meaning of the given idiom.
Once for all
(A) Conclusively
(B) Instantly
(C) Constantly
(D) Frequently

Answer: A
9. Select the most appropriate meaning of the given idiom.
To draw a blank
(A) To win a lottery
(B) To become unconscious

(C) Togetno results
(D) To forget someone close

Answer: C
10. Select the option that expresses the given sentence in indirect speech.
The gardener said, “These roses will bloom early.”
(A) The gardener said that these roses will bloom early.
(B) The gardener said that those roses will bloom early.
(C) The gardener said that these roses would bloom early.
(D) The gardener said that those roses would bloom early.

Answer: D
11. Select the most appropriate synonym of the given word.
Triumph
(A) Failure
(B) Victory
(C) Disaster
(D) Sorrow

Answer: B
12. Select the most appropriate synonym of the given word.
Elegant
(A) Frightful
(B) Joyful
(C) Graceful
(D) Faithful

Answer: C
13. Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to
substitute it, select ‘No substitution required.
Computer crime have been in the news since the nineteen eighties.
(A) Has been on the news since




(B) has been in the news since
(C) has been in the news from
(D) No substitution required

Answer: B
14. Select the most appropriate ANTONYM of the given word.
Quiet

(A) Commotion
(B) Stillness

(C) Compose
(D) Completely

Answer: a
15. Select the most appropriate ANTONYM of the given word. Restore

(A) Random
(B) Productive
(C) Recover
(D) Destroy

Answer: d
16. Select the INCORRECTLY spelt word.

(A) Coutious
(B) Intelligent
(C) Irrational
(D) Excessive

Answer: a
17. Select the correctly spelt word.
(A) countirfeit
(B) countorfeit
(C) counterfeit
(D) counterfate

Answer: C
18. Select the option that will improve the underlined part of the given sentence. In case no improvement is needed, select ‘No
improvement required.’
In his memoir, Attenborough said that, “Lisa would have been 11 if she was with us today.

(A) Attenborough said that, “Lisa will have been 11 if she were
(B) no improvement required
(C) Attenborough said,” would have been 11 if she was
(D) Attenorough said, “Lisa would have been 11 if she were

Answer: D
19. Parts of the following sentence have been as options. One of them may contain an error. Select the part that contains the error
from the given options. If your don’t find any error mark ‘No error, as your answer.
The goons fled after kill a boy in the street.
(A) Afterkill a
(B) boy in the street
(C) no error
(D) the goons fled

Answer: A
20. Tourism can cause social, cultural or environmental disruption. The greatest concern is (1) ---- damage to environment. In order to
attract more tourists, (2)---- resorts are built which take neither the local architecture (3)----- The ecology into consideration . Natural
systems get (4) ----as a result of indiscriminate construction to provide water (5) ----waste disposal facilities along with recreational



arrangements to tourists.

Select the most appropriate option to fill in blank number 1
(A) an
(B) one
(C) the
(D) a

Answer: C
21. Tourism can cause social, cultural or environmental disruption. The greatest concern is (1) ---- damage to environment. In order to

attract more tourists, (2)---- resorts are built which take neither the local architecture (3)----- The ecology into consideration . Natural
systems get (4) ----as a result of indiscriminate construction to provide water (5) ----waste disposal facilities along with recreational
arrangements to tourists.
Select the most appropriate option to fill in blank number 2

(A) spreading

(B) stretching

(C) scheming

(D) sprawling

Answer: D
22. Tourism can cause social, cultural or environmental disruption. The greatest concern is (1) ---- damage to environment. In order to

attract more tourists, (2)---- resorts are built which take neither the local architecture (3)----- The ecology into consideration . Natural
systems get (4) ----as a result of indiscriminate construction to provide water (5) ----waste disposal facilities along with recreational

arrangements to tourists.

Select the most appropriate option to fill in blank number 3
(A) none
(B) no
(C) or
(D) nor

Answer: D
23. Tourism can cause social, cultural or environmental disruption. The greatest concern is (1) ---- damage to environment. In order to

attract more tourists, (2)---- resorts are built which take neither the local architecture (3)----- The ecology into consideration . Natural
systems get (4) ----as a result of indiscriminate construction to provide water (5) ----waste disposal facilities along with recreational

arrangements to tourists.

Select the most appropriate option to fill in blank number 4
(A) destroyed
(B) distracted
(C) dismayed
(D) displayed

Answer: A
24. Tourism can cause social, cultural or environmental disruption. The greatest concern is (1) ---- damage to environment. In order to
attract more tourists, (2)---- resorts are built which take neither the local architecture (3)----- The ecology into consideration . Natural
systems get (4) ----as a result of indiscriminate construction to provide water (5) ----waste disposal facilities along with recreational

arrangements to tourists.

Select the most appropriate option to fill in blank number 5
(A) and
(B) also
(C) but
(D) as

Answer: A
25. - Rearrange the parts of the sentence in correct order.
In December 2018



P. caused a landslide that

Q. an eruption of the volcano Anak Krakatau

R. triggered a tsunami in the Sunda Strait (Indonesia)
S. and killed more than 400 people

(A) QPRS
(B) SQPR
(C) RPQS
(D) PRQS

Answer: A
26

A+BFH A9y § 'A,BFT HTE ¥

'‘A-B'HT A9d & 'ABFT AT’

'Ax B dIcqd § 'A,BHT gfd &

'A:B'HT a9y § 'A,BF T8 ¢

I C:B-E+AxF-D§ A Arafaf@a & ¥ sla-u1 wyar wdr 7 2
(A) C,A®Y AT &Y TgT &I

(8) D,BH#Y THr T

(C) B,A®Y AT Bl

(D) F,B%F 9 & el Bl

Answer: B
27. 39 WHTAT 1 94« FfT A wEAw svw # 3@ yeR w6t § Ow R fmafaf@a et fr deae
9w # geafog &
(7,11, 72)
(5,8,39)

(A) (5,2,23)
(B) (2,3,1)
(C) (4,7,33)
(D) (5,6,13)

Answer: C

28. 3W R@ed #1 aaa AT At deY oaeg ¥ 36 TFR TG § W TR qEU A4S TE Ueg § WA F
& Rfvcws : i = @ Rdwa 2

(A) TFd

(B) wddr

(C) T&d arfgsie
(D) esfEar
Answer: B

29. IT 12@2=145 3T 15@2=226,d 24 @ 2="?

(A) 676
(B) 577
(C) 576
(D) 575

Answer: B



30. 39 @HTEY & 9O R GEH JEa 3@ veR @ F&ftd § o 9eR RT aT geeay i
FEIIU F&Rd g1 (Ae: HEA3i A 365 geh 3 7 fFenfard feo e, qof deansi w afwamsi #1 & s o
3CTEX0T & Rk WX 13- AHATC S T SiISaT / Berer / Ao T e qUT 13 9T AT S Fehell 1 13 1 3R 3 A

fasiaa a3k 5T 1 3R 3 w0 oo Efsanst &t e i segafa 8T B)
(12, 7, 1385)
(19, 15, 3484)

(A) (21,16, 5165)

(B) (17, 15, 1550)

(C) (16, 14,1321)

(D) (11,7, 955)

Answer: A
31, AT e & OR #@&ar 9o QU 9w g1 9cdsh oA H (-) % ot 3R 1 FEAr (-) & et 3N AT Hedr o
forel o/ fga/dey @ Safia §) A o/ aa/dey & R W A IeR FAE g1 U o fRemedt 7 & v oA
g

(A) 1111-1234321

(8) 111-12321

(C) 11111-1234554321
(D) 111111-12345654321

Answer: C

32. wfordy Reat & 39 98 A9 1 9940 H, O Real & T W $@F & F @ oo W R

Ao Fgfera g s
7*5% 4% 2% 3% 7

(A) + 5=
(B) HHH+H=

(C) S X =
(D) ot %=

Answer: A
33. v Ty RAwcdl # & 99 G&T &1 999 By, o F=feRad oot § yeafasd (?) & e 0 o G & |
4,135, 32,7, 108
(A) 625
(B) 49
(C) 65.5
(D) 50.5

Answer: a
34. =R Ui da gEeE U 1T &, 579 9 39 59 dRE 9 999 § SR UE IRIT 2| U I Bl AT X |
(A) 9R
(B) ®rrem
(©) T
(D) ST«

Answer: B
35. afe SRS goHren & ad | S8 B iR &% ART MR BT oI I 8, A U s el 6 als iR 9 124 sigR @I |1 g6?
(A) T
(B) K
(©€) S
(D) J



Answer: D
36. fay T de & yds <Ry &R I 3eR & T i, S g9 ywEfaes () @

I TR 3 T 2 |

rl 6 1 5
4 L n 7
17 v W 3
4 1 8 12

(A) M

(8) O

(C) N

(D) Q

Answer: A

37. M,Fd 85 mzfmr—ultem # 2| afk C, F& 85 mafdor—gd # 2, @1 C, M & wmue
foa faem # 872
(A) gd
(B) SaR—gqd
(C) =faor
(D) uf¥=m

Answer: A
38. U fAdey &1 789 BN, S S IMERI Bl TN 8, S A9 U MU Rad ==t § a6 9
TG T I W MR &Gl Bl got aT |
..bb._ea._bc..aa..cde
(A) dabdebbaac
(B) abdaacdebb
(C) aacdabdebb
(D) cdaaabdebb

Answer: C
39. <9 WA eed & 999 W, S 7= vl @1 arfos &9 o= uelRfa owar )
. ®re1 (Cutting)
. gae1 (Leather)
. 57 (Shoes)
. SR <1 (Shaping)
. ge1 (Wearing)

a A ON =

Answer: D
40. gfe G =493k BU &1 4441 forma &, af DM &1 99 ferar g ?
(A) 16144
(B) 19169
(C) 16169
(D) 16196



Answer: C
41. 3Rl dEmRlt 3R yde! ¥ gaa eferRad sgaven &1 sre &R, iR I Ry 17 ge7 &7 IR T |

A
@%) CA5#6° S5DPAY8R2Z*Q9BL56%$2F6 ()
SR &Gl # U fhae 3eR 2, R 4 9% & 3% Ugdl U UAId &, AR S 918 U 6T 87
(A) 3
(B) 1
(C) 2
(D) 4

Answer: A

42. TP Y IR SED 918 Tl BT — | R |1 fAy v & | gaq7v {6 B T 24 U &7 SR o4 @ oY g 87
-

e @1 3y fhar 87
BU:
|.URT ®1 oy SHa! 984 S1ftar 9 10 95 39 7 |
|1 3fSar &1 g Sl A 9 25 99 9 & 3R 9 fuar 9 30 a¥ &9 |
(A) @ | iR |l <91 v |rr vafa €|
(B) e | 3R 1l 341 v& wrer wafa 781 2 |
(C) w1 |l et vl B, Sidfes %o | srdvel gl 81 B
(D) P | ardbet qaTa B, wafdh b |1 etdber yafea =& 2|

Answer: B
43, v& Afgd @ v # ‘BLISS’ & ‘MAITR’ forar S &, iR ‘JAPAN’ &1 ‘BIPOZ’ forar S & | S e wiom # ‘GLOBE’ &t f&s
TR feren Siem?
(A) MFOFA
(8) MFACD
(C) MFOEA
(D) MFOCD

Answer: A
44, v& fAfgd @ wiw # CABLE &1 65@7# forar Siram @, ok PARKLET &1 8591742 forar Sirar | ¥ & wmom # ELRAP &1 fd gaR
forar srom?
(A) #9587
(B) 9#785
(C) 7#958
(D) #7958

Answer: D
45, 4 g gl 4 Bryel o W@ aarsy |

(A) 19



(B) 17
() 21
(D) 23

Answer: A
46. 3 a1 3N FT 49 T AN AFfAf@a ot F fi7 F9 ' wafaqw v F gaofar &

QO

(B)

(€) ]iz

(D)

Answer: B
47. TS & 9 A IR AT-37e09T FEATAAT g2iis a1 & [ @ ©F Boihl H T&IAT 1 T 6 doh | 39 T&IT T IIT

FIFT 3 2' U I Fedsh & QAWT aTF Belas G graf|

ok

(B) 6
() 5
(D) 4

Answer: A

48. 34 fadeq pfa #1 w4 Hfoe oA § 7 rpfa (x) 38F smr & w0 F Bh g8 ¥ npfa A gaA= A
FiepAfy 7 B)

(A)



Answer : B
49. v gdor H fara BT & IR PQ' W @ ST §, at R @Aee & 7 ar@ @@ gior yfafds 1 wwa F:X

P

THOUGHTFOL
 1eITHDOUOHT
~ J8THOUOHT
o JUITHOOUHT
_1eITHOOUHT

50. Ru v fwedt # ¥ 39 wfa F1 999 w AN T Il - gwen
eAfREd (?) F TUT W 3T Fhdl &7

A, E 8 7




ZHE
|

(A)

[A]
() L—F

E

|

(C)

@ D
(D)
Answer: B

51. wRa ¥4 Racrwd affied & aR # a1 |l 27
(A)  oE wIfRa™ & AT &1 UH IMTe o |
(B) ¥% 9RA # YA eI URAR BT G 98Tl B @ foIY T SfiQIeT o |
(C) U gBl & Joad & Tl ¥ TP Sniarerd o |
(D) Tz Sferiaren 9T & TREER © RIT® Udh Ml o |

Answer: C

52. frafafea ® & #1971 ot 79 9 it G=ET § gafda g2
(A) SfearspT
(B) ufkariier

(C) wftgT
(D) afdsrr

Answer: b
53. WA 4T it T #9719 FT ey Fotied § & gt < Raa g?
(A) @S
(B) TR
(C) =rereRdT
(D) T

Answer: C

54. = g Tar A § & RrfRa- Phew arét % ararerfaars s, Ry ordt avmr # - Fga S
(A) W
(B) FaT

(C) gatEw
(D) ST

Answer: b
55. WA FaAE e, .0 fiame g @« & defeT §2
(A) Fet
(B) a=fiaw
(C) TaAfeFT
(D) TEw =



Answer: C
56. WS GUTE! F JATHT FTA 7, FIF A €9 4 7 F @ & g« # Al gam
(A) SR R d@TH
(B) farmT sfix afeamar
(C) AT S SmIRT
(D) TR AR A=Ts

Answer: a
57. g ad # €98 % TF AT aH g AHea-Mae b a-srH=arar a9 & g7 1 GHhd Hed §T AGIST ATHS d ATIRT LT FT
& T e
(A) 1974
(8) 1971
(C) 1973
(D) 1972

Answer: C
58. FITAT GgF THLT TUITAT T STANT ---- % @ | AT JATAT 8
(A) STEReSTS
(B) Tohehe
(€) grr
(D) et

Answer: d

59. WAL AT YL &l kel it faerm & Y 1T srq= 7w & forg Fraferfea & & e siqeigi aife et 2020 & gwrHa T

T 2

(A) |TITT TEHT
(B) &Y =R

(C) TRt At
(D) T &R

Answer: a

60. IEIT HIQME FATHIGS AT MAfeired § § g T # ffuad 82
(A) TETTA
(B) afTg

(C) wEgTy
(D) FATEH

Answer: b
61. Futifag & @ g w1 % 9o #i, iy s it 7T & anfae 781 B smar €2
(A) THEH H FTF HAT
(B) W& AW T & AT
(C) ST | AT AT
(D) fReft

Answer: d
62. dg ®iaT @ vHATT gRFEaH a7 § ot ¥R I W JE gavar g2
(A) 4919 Tddeh (Phytoplanktons)
(B) MY WA H URAT AT ATl el -ty qIRFEATART TF (Doop sea hydro-thermal ecosystem)
(C) =irgerster FEudiaor sha'rug (Nitrogen Txing bacteria)



63.

64.

65.

66.

67.

(D) Hﬁfl’ Sl (Marine organisms)

Answer: b

aRd & Rua & gy Aar ik s9% BAvr af F Taa 3w w1 awa A
(A) IR HIIR-1664 §.

(B) eglg HIAR-1828 §

(C) Tig AER- 1435 &

(D) gTeraT #dR-1452 §.

Answer: d

giRor oRa F1 fArafaf@a # § Fla @1 givgfas scaa Tem AgE f AFHAE F F3T 2
(A) qfarer

(B) 39Tt

(C) I3 gz

(D) 3rore

Answer: D

e dofas & o swefas I, smfaas wEde @ ve FEfas 3, IR w1 wedvor R

(A) TF GIgeR (F Wohler)
(B) ¥¥<lie (Berthelot)

(C) #red (Kolbe)

(D) SSiferaH (Berzelius)

Answer: a

wfaure #1 FlT-71 AHeTedE TUC FAT ¢ B IHNETT (reservation) St Afaait Famerar & HfAFR F1 eerae et

(A) 3TeBE 15(2)
(B) rTede 14 (1)
(C) ITesT 21

(D) 3eTete 16 (4)

Answer: d

9 #it AT g are fFE A A @0l (river basin) RS, Telweg 3R 3FET TSAT F FAR FEA §, 3 FHST

STAAGYT &A1 39,033 sq km &7

(A) srgTofY
(B) QmMar
(C) sIRmaet
(D) aaRoi

Answer: A

68. 3R A ffewr ama & e Pmafaf@a # ¥ e oot Foa & Rew Af 'sawEe a1 Rgyaa gy Af



R R g

69.

70.

71.

72.

73.

74.

(A) e Seglsh (Lord Dalhousie)

(B) CIERCAC CHTE (Lord Cornwallis)
() areT gREIW (Warren Hastings)
(D) arE ST (Lord Canning)

Answer: a

gt gaadly A F AR srdegavyr # dftgd gt o 4T oA
(A) 5.4%

(B) 2.0%

(C) 6.7%

(D) 4.5%

Answer: D

TRAT FIY AT TR 7 F &7 T T T o6 & Torq Fohdes a1 FHATT 6T 82
(A) T

(B) IF Wifiesh

(C) ey Titew ffhes

(D) &

Answer: C
ARG A= AT 3 THT R e srgae & €9 g 617 52
(A) sfimer 3=t

(B) sreforT fAegT
(C) T T
(D) ST FHTX

Answer: a
AEHT AAT 2024 § GEHE ATHAAT HT AGTS ohaA SHiaqr?
(A) Tfae STSAT AT

(8) Trferaer weft
(C) ST &
(D) ToF=eI®he e

Answer: b
WA % T8 S &l TATASH e AT SgTed e Tsg # foram sr=m?
(A) FoT=e woer

(B) ST e
(C) T&T T=er

(D) gRaTomT

Answer: c

30 fadaw 2024 TF it Rafa F AET, ST AedATTeH Qi @57 (NATO) F | § Fohaw daes 291 82

(A) 21
(B) 39
() 32
(D) 12



75.

76.

Answer: C

fAeferfea & & F9-871 2024 # o1 30 70 AU SrURTIEF FAAT H F UF T2 22

(A) T AR geaT "igar (BNSS)
(B) W gT wiRAT (IPC)

(C) AT =T /24T (BNS)

(D) wTEAT "TE St (BSA)

Answer: B

F gHeR fAafaf@a die what i dearswer Far g

AT -1:15% AR 25% A A HAF g
AT - 1:5 TS, 3 HFA IIC

ST - 14 TS, 6 90

el & AT g e TR Fia-dr § 2

77.

78.

(A) TPXH -1

(B) S off gsfr @A §
(C) TP - 1

(D) FHH-1

Answer: D

IfY tanA-tanB-tanC  tanAtanBtan C§,al B3 C¥ &g & A®T AT F4T g2

(A) A  B+C

(B) A=2B-2C

(C) A B-C
B—-C

D) A= 2

Answer: A

ar safFa AR B 10:30 T TH-GWX F 220 km Y gft W FI 30 FATTE F A1, A, 40 km/hr FT TTT F BT AR

AR AT § STAfF QET 12 I, B, 30 km/hr T I ¥ AR GT AR AT 1 I e @ fraar @=r e

79.

(A) 5:30 AM
(B) 4:00 AM
(C) 6:00 AM
(D) 7:00 AM

Answer: C

TH IfFd o Rs.80 Ufd U7 & ST UT 80 U W a8 40 U7 20 wfaerd Y gfer X a=ar g1 Iy wsft 9=t v

AT 37 9T 20 yfaerd &1 o JAoia fFar Jmar & @Y AW 40 9aY 9T Arer ufaera =4 gem?

(A) 60 wfarera
(B) 90 wfaera
(c) 70 wfaera
(D) 8o wfaera

Answer: A



80. ﬁsﬁaﬁ#ﬁwwﬁ,wﬁﬁw%ﬁﬁmwmmgc,eo%mﬁﬁmﬁ:#luﬁgﬁrﬂ?ﬁa‘»‘r
TEAT 12000 o, @t qEY 3EAIGAR A A RftEET #dt fr g w7 9

(A) 6200
(B) 8840

(C) 4320
(D) 10800

Answer: C

81. I fFdY Fuelt F g R &, 3itd 397 Rs.350 wfd FHAARY &, 10 ass FHARAT F1 39T a7 Rs.450 ofy
FarY §, 3R AY FAARAT F1 sitwa da Rs.250 v FAAH A R Rumr § sRia wAARE fr g dew
freelt & 2

(A) 30

(B) 20

(C) 15

(D) 25

Answer: B
82. 9592450, 9592330, 9592885 3 9592741 H ¥ HiA-Wl WE&AT 11 ¥ [T &7

(A) 9592450
(B) 9592330
(C) 9592885
(D) 9592741

Answer: b

83. Wﬂﬁﬂﬁﬂhﬁ‘gp#@ﬁﬁﬂéﬁﬁ#mmmw%laﬁ:ﬁ?mnoﬁmém"r%,?ﬂmana:m
¥ g P gt (m¥) 7T 2

(A) 110
(B) 220
(C) 330
(D) 115

Answer: C

84. a®+a’bh+ab?, a+b 3 aZ+ab+b? & W AT fifaw

b
(A) a+hb
a
(8) at+b
b

(C) 1+@



(]
(D) 1+'[l

Answer: c
85. 20 ameHt &R 15 ofsa et & &1 10 A § ) Adhd 21 25 M 3R 10 T I &1 BT 9 fa7 § o) AHd 7 | AT &R ISP g@ART

fory M7 3 B BT ST ST PR
(A) 14:5
(B) 5: 14
(C) 12:5
(D) 5:12

Answer: C
86. IR ggfg el W & ¥ ve g=RIf 3 auf # 4 I & W B, O S W R R I g9 fha aut # 64 T 8 S h?
(A) 15 a9
(B) 8o
(C) 9=y
(D) 12 9%

Answer: C
87. U 3N UIg & TM B ddrs, Aers AR A B 64 cm, 48 cm iR 36 cm | 3 fEerar Ser 8 iR S oMeR & 8 'l # 95 far
SR | T 3 EAr & ured U &5hel (Cm? H) &7 AT fohamT 82

(A) 5184

(B) 10368

(C) 8640

(D) 6912

Answer: D
88. uw T @! usy AR B Her 9 h sk 15h # wR wad | I UI5Y TS A1 Wiel Y | BB T U A9 gaT o <al & aa # Us RAa @

1
22-h
S g Y S @ 2 # WTell R FHAT 8 | T SHD! A DI T3 | I B ot 6 h 3w T B, O Rarg @1 Avwa fhas w9g @ gward
P TS AMN?

1

(A) 2% h
(B) 2 h
1

() 1% h
1

(D) 12 h

Answer: D
89. W 3 ¥ UF BUAl &I I (e H) iR @ (e #) qurtar w7
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Ia@re (¢ #)
g

100
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2015 2016 2017 2018 2019

a4

d a¥ B oI § HUN P IUeT H AHdA ghg AT B P wfoRid frdr 2?
(A) 29% g
(B) 50% gfg
(C) 46.67% =
(D) 33.33% =¥

Answer: D
90. =Ifhd MeRg BT FLTIT BN AN SIS 91 T TT Y9 BT Sk ¢ |

9 ABC GR12014 ¥ 2019 % S a1 o arer i+
&1 e AR Fafa (Rkaekg 7)

500 - el
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350 320 i
sy 280 e .
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100
50 | ]
1] [ra— F— | b ol Fa—
201s 2015 2016 2017 2018 2019
* IAes - fafd
2016, 2017 3R 2018 # I &7 oitaa Ffa, 2017 # gU ScTe & fovaw ufiera & 22
(A) 22.5%
(B) 20%

(C) 29%




(D) 25.8%

Answer: A
91. IR x2+(1/xY)=1,a% x®B+x2+x3 +x30+ x2 + xB + x12+ x6 + 1 T AT FAT FIEM?
(A) -9
(B) 0
€ 1
(D) 9

Answer: C
2 _
92. ﬂﬁﬂ"ﬁﬂ)‘\'ﬂx 3x+k Dﬁwq\a—zﬁaﬁkﬁwa’mé?
(A) -2
(B) 8
c -8
(D) —10

Answer: D

93. $8200 M UM A A BIRCHAsu R RsnGa Fm s F AN B A 5500 sRF IR CHAATT
300 3% e, C &1 fgwam (3 &) A G A

(A) 2,300
(8) 2,800
(c) 3,100
(D) 2,000
Answer: C
- o]
94. &g O arer el g ww &Y g A 3R B @ ATmhmsvmﬁaa%ﬁ:’iBAT =45 2 OA W
s g N 50 9o Rua &, &
BN = 10 cm ] 'ﬁNOB% AIHT OM HY da1E Fa1 872
" 104/2 cm
(B). 5 cm
. 5v3cm
o 5v2cm
Answer: B

95. c0s45°sin15' T ATT AT &2

(vV3-1)
4

V3

(B) 2 -1

(A)



(vV3-1)

@ 2
(D) (V3+1)

Answer: A

96. ﬂABC-ﬂDEFW YFR & fF AB=9.1cm 3R DE=6.5cm 13T ‘ﬂDEFm IRATT = 25 cm, at A ABC FT IRATT gl

(A) 45cm
(B) 35cm
(C) 40cm
(D) 30cm

Answer: B

97. ﬂ"ABcﬁ U gd 3chifoid fRar arm @, S AB, BC AR ACHFT Faer: Rigat p, 3 RUT Tt FIar ¥ AT AB-BC=4

BC
cm, AB- AC=2 cm 3R ﬂABCEFI' qfETT =32cm ¥, @ 2 (cm ®) &1 AT Fd AT
20
3
10
3
13
3
11
3

(A)
(B)
(€)

(D)

Answer: C

98. wEm AT P v el sonat A dGE FAW: (x- 1) cm, (x+ 1) cm HR (x+ 3) cm 1 FHFIOT BT F FOT

d91$ (cm A) fRaet gefe
(A) 10
(B) 12
(€ 7
(D) 6

Answer: A
1

99. A3 BUF EW & T §1 AFT Goht @7 333 % Frder FaT ¥ AN B AW N P e §1 IR A€ F

# Tl A X 1,62,000 §, A BF REwr (3 #H) fraen gome
(A) 1,20,000
(B) 1,12,000
(C) 54,000

(D) 1,08,000

Answer: D
100. U 9T <¥or& &1 AT AT HfST |
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